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FREEHOSHEREBY. EEALBLLFET,
BHOBEIH ST IMHBRSHREME . TROBYBMSLLET,

MEEA (T, B ARICKBIESIE EEDHEFSFTIELHIA2.0M/kWh) Z M B FREEM N5
E5IETHDTIHLEL BIBEBICTESIEETHhE TLVIZEET,
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BXLHGRIAVH LT

BHEEHEEA=DRHNERZEG+QES1-N\—YIIL—ERREEM+Q)ENE H AR E

+OBENHEAIBEE = A -5.40|FH/kWh
(1) PR¥ & A2 B i = (E A EMIAE —86,100M) x E#EBffi+~1,000 = -7.25|F/kWh
202553 A ~20255F5 8 DB F#HEHmE
A: 1kIHT=Y D FEHEBEE 72,187 M a: 0.0048 FLAE B 0.183 M
B: 1tdh1=YDIEHLNGEHE 88,743 M B: 0.3827
C: 1tH=YDEH A RmE 18,459 M Y 0.6584
EHREMER = AXxa +BxB +Cxy = 46,500 H (100K BEIEHEA)
(2) BB —/N—H LY —E XA E = (B & F BT —0M) x REEB{H 1,000 = 0.00]F/kWh
202543 A ~202545 8 DO E SixaH g
A: 1KkIHT=YDFEHEHEE 72,187 H 0.0000 HAEER 0.000 M
B: 1t&H71=YDFEHLNGEE 88,743 M 0.0000
C: tH-YDEHRRMmE 18,459 M Y 0.0000
EMETHYMEMER=AXa +BX8 +CXxy=0H (100M kBB HEA)
Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh
A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 1.85)F/kWh
A: BIADITYTTSAREHE-(1-BRE) x F{BER 16.40 MADINT7ISARAEHE 13.88
B: =TI EAAE B (Fiik) 7.00 |RE 6.9%
C: BANFAEERAE M (Fitk) 14.00 SREEER 110%
D: BEIE 70%
4) FEHEHaE%EE 0.00)FH/kWh
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2025% 8RS MHEFHREEMOBISE

FREEHOSHEREBY. EEALBLLFET,
BHOBEIH ST IMHBRSHREME . TROBYBMSLLET,

MEEA (T, B ARICKBIESIE EEDHEFSFTIELHIA2.0M/kWh) Z M B FREEM N5
E5IETHDTIHLEL BIBEBICTESIEETHhE TLVIZEET,

onji
cu

€l;{consulting

BXLHGRIAVH LT

BHEEHEEA=DRHNERZEG+QES1-N\—YIIL—ERREEM+Q)ENE H AR E

+OBENHEAIBEE = A 411 |F:]/kWh
(1) BB E R M= (AR —45,900) x HEEEE{H 1,000 = 1.51]F/kWh
202553 A ~20255F5 8 DB F#HEHmE
A: 1kIHT=Y D FEHEBEE 72,187 M a: 0.0275 FLAE B 0233 M
B: 1tdh1=YDIEHLNGEHE 88,743 M B: 0.4792
C: 1tH=YDEH A RmE 18,459 M Y 0.4275
EHREMER = AXxa +BxB +Cxy = 52400 H (100K BEIEHEA)
(2) BB —/N—H LY —E XA E = (B & F BT —0M) x REEB{H 1,000 = 0.00]F/kWh
202543 A ~202545 8 DO E SixaH g
A: 1KkIHT=YDFEHEHEE 72,187 H 0.0000 HAEER 0.000 M
B: 1t&H71=YDFEHLNGEE 88,743 M 0.0000
C: tH-YDEHRRMmE 18,459 M Y 0.0000
EMETHYMEMER=AXa +BX8 +CXxy=0H (100M kBB HEA)
Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh
A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 2.60]M/kWh
A: BIADITYTTSAREHE-(1-BRE) x F{BER 16.38 MADINT7ISARAEHE 13.83
B: =TI EAAE B (Fiik) 5.00 |RE 7.1%
C: BANFAEERAE M (Fitk) 13.00 SREEER 110%
D: BEIE 70%
4) FEHEHaE%EE 0.00)FH/kWh

UL
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FREBADCBRERY. EWALBALEFET,
EHOBIHSCETHIMHBRSAREME . TROBYBASELET,

MEEA (T, B ARICKDIESIE EEDHEFSFTIELHIA2.0M/kWh) Z PAH & FaA B E M Ao
[E5IETHDTEAEL AEBICTESIZZTHOETWEEEET,

onj
cu

BRAXLHGRIAVHILTAY

MRHBERREM=)RHNEAREE+QBBELI—/\—5 LY —E R REM +(Q)HE H AR B

+HBEENHSAIBE= SO 15kWhET BTN 79.10 =]
LiELsn A 5.27 F/kWh
(1) A% B R Bl = (SEY PR EMERE —27,100M) x BB {H 1,000 = BHID15kWhET 45.05|M
202553 A ~202555 A FHH D B S EHmE LEERLIS 3.00]F/kWh
A: 1KHT=Y DT [RBImE 72,187 M 0.0140
B: 1tdh=YDEHLNGIEIE 88,743 M 0.3483 ~ 15kWhEE £ B {ff 2475 H
C: 1tHI-YDFHR XM 18,459 M Y 0.7227 16kWh~ EL 3£ B {ff 0.165 H
TEHEREMER = AXxa +Bx 8 + Cxy = 45300 (100K FBMmIERA)
Q) BEI=—/N—H LY —E XA = B S TR EHEE —0M) x ZEBH1,000 = 0.00|F4/kWh
202553 A ~202545 A D E 5 EHEHE
A: 1KHT=Y DT [RBIEE 72,187 M o 0.0000 HAEBMH 0.000 M
B: 1tdh1=YDEHLNGIEIE 88,743 M 0.0000
C: 1tH-YDFHR XM 18,459 [ Y 0.0000
BETHREMER=AXxa +BxB +Cxr=0H (100 KXHmMmIERAN)
Q) HEHFARHEM=A<BDIGE. HHENFHREM=(A—B)XxDX(1+HEREK) = 0.00JF3/kWh
A>CHIGE . HENFAREM=(A—C)xDx(1+H&EMHK) = 2.27|M/kWh
A: BIADITUTZTSAREHE-(1-BLER) x FHER 15.95 BADIUTZTSAREHIE 13.37
B: ZEITIAREEEM(Fiik) 5.00 |RE 7.8%
C: BINFREERAE B (Fuik) 13.00 R 110%
D: MEIE 70%
4) REllHE£aiR%E 0.00]F1/kWh
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